SECTION 1

Mes. Nlaghs: | @253 225

(1} ff radians =

(a) 160" (L) }’}’.U"’ Ay 0° (d) 184"
(2) The maltiplicative inverse of —i 4

@) by Vg T B
(3) J'}—G]S

(a) Rational number (b)  frrational nuiber

{¢)  Prime nunber (d)  Whole number

(3) HAisa s;qﬂum_‘c;z matrix of order 3 X 3 then |KA| equal.
(a) KAl (b) K2|A| {c) K*|A] 1 S g 1
(5) A dieisrolled once. The prohabilﬁy {hat the dots on the top are greater than four is:
e R T . e
Gy - Fhe numba;r_ of terms in the expansion of (Za + b)* are
Gy Bl 130 LAEN. BE. @) 1S
(7) if wis the i.maginary cube rout of unit then w*=
(@) ] (L) -1 (c'j . w W w™?
(%) Sctof the first elements of the ordered pairs forming a relation is called
(a) Domain (—1_{) - Range (c) Bimary (d) Set

() Solution set of equation 6x° + x — 15 = 0 is

o £ o g3 e B o &3

(10)  An equation, which remain unchanged when x is replaced by -:'; 1s called

() xponential equalion (b) Radic:) Equation
(¢ Reciprocal equation () Quadiatic Equation



(12)

(13)

(14)

(15)

{16,

(18)

(19)

21)

Product of all fourth roots of unity is
() i iy i {c) - (d)

AM between x — 3and x +5 18

@) AV ih) x+1 (c)
Factorial Jorm of 20.19.18.17

. zat , 10! : 52!
¥ P ) o {c N 1
(e 16! (b) 16! ) 41 (d)
cosl-cos) =

’ =8 P=0 : o

() 2c05 ——i—’g €08~ (b) 25inPcos()
: : - P i
() r 28in i’—1_%9-5,'1112—2—({ (d) st-—_:g-suv——

Evalvate of °P;~

(a) : 480600 (by 6048000 (©)
Sinplest form of 6 -E:‘).b: 16 is

(A} © 253 tlv) 523 {c)
Complele the sequence 25 I 0,13,26

(a)  29,58,61 i 27.50,61 ()

If 8(x —5) = 4(3x ~ 3) valuc ol x=

@ T by e

Distance between A(3,-11), B(3,4) 18

ST T S ey 5 (d)

L120x2y335 |
Lowest form of Lo B, T
30x3yz
3 5 3 3 L ay2z¥
W Ay (b) yx (©)

Which of the following is a solution to: x + Z=1

G ey 0 GENESR. . )

14 x?

(d)

106!
20!
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60480
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(©)

(d)
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[a]

604800
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6l. 74, 42

4xXyz
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Sin X+eos™x =

() -1 (h)

The preatest angle is Gppnsitei to:

(@) Smallest vide (b) Grealest side

(c) right side (d) none of these

I integer x was divided by 7. the quotient would be 12 with

equals.

(a) 91 (b)

90 (). -85 - (@) 83

What is 10% of 20% of 30% 7

@  0.006%

®  0.6% C© %

a remainder of 1. Therefore x

@) 60%
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SECTION 2

Muix Marks; 3x 5= 25

MNuté: Sofve the {ollowing QTJES]’!Oi‘JS in the given space, each gucstion has five marks.

D M2 Anopen water tank with length 20 cm width 15 et holds 4 litres of water.

Calculate the height of water level in the tank and wial surface of cuboid in
conlact with water,

s - Sizhas 4
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Prove

<% 1-——1:1:12{3*
cos’8 ~ sin’Q = L2
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12-4L
x‘z._q

X

6

X6
X2 =%~
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Simplifv
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LONuS | Write solution set of 22 x - 3 (5 = )7~ (Bx + 7)
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Sol.

—
T Gk - o
A = | 3 P ~1J ,show that (1) A + A’is symmetric. ~I
=1_3 2 : i
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